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8 GCSE Science Exam Practice Question Evidence for Evolution - Mark Scheme
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Guidance

1. A square bracket with a 1 inside represents one marking point [1]
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2. A forward slash represents an alternative acceptable word or phrase, for example, ‘Trees require light/suniight’ [1]
means that the word light or sunlight is allowed for the mark.

3. Undertined words are required for the mark, for example, ‘trees grow because of photosynthesis’ [1].

¥ GCSE Science Exam Practice Question

4. A bold ‘and’ means both parts are needed for the mark, for example, ‘leaves need carbon dioxide and suniight [1].

01 Part of the evidence for evolution comes from fossils. 5. The phonetic spelling of correct scientific terminology should be credited unless there is a possible confusion with
another technical term, for example if the correct answer is ‘Biuret test'then ‘burette’ would not be allowed. However,
014 What are fossils? {photosintheses' for ‘photosynthesis’ would be allowed.
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* Disease resistance in food crops.

6 Brackets (.....) are used to indicate information which is not essential for the mark to be awarded, for example
‘lleaves require) suniight for photosynthess [1].
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01.2 The two diagrams show evidence of living things from the pal

Answers Guidance notes

(remains of) an organism /  bone / a shell / hard part of an The spec says’ Fossils are the
organism  part of organism that does not decay / impression of | remains’ of organisms from
an organism / footprint / burrow / rootiet trace [1] millions of years ago, which
are found in rocks."

in rock / amber / mineralisation
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Fossils are technically not
from a long time ago / many years ago [1] remains but the shape of the
If number, > 1 000 000 years organism in rock.

ignore hundreds or thousands

Mammoth remains - 37,000 years old Fossg
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o 3 ‘ * Animals which produce more meat or milk. Scientists are able to extract DNA from the mammoth but not The mammoth remains are tissue or body tissue or (preserved) | Remember fossils do not
* Domestic dogs with it ature.
W\ ‘ d ) (V3 ‘o5t dogs wh a gentle nature. cells 1] contain any fissue from a living
« Large or unusual flowers. Explain why . ”
plain why. The fossil s made of rock / minerals [1] thing. Fossils are actual rock.

s0 contains no DNA [1]
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(organisms thought to be) soft bodied or had no bones / hard
rts [1

So (earlier iving things) decayed [1]

013 There are very few traces or fossils of the earliest forms of i 4 | Changes in a species or organisms can be seen over time [1]
Allow evidence for evolution
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Visit ie for lessons, quizzes, exam practice questions with answers, topic tests, finks to past
‘papers with answers and support throughout the GCSE science course.
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014 Acomplete fossil record is useful to scientists. Explain why.

* Animals which produce more meat or milk.
* Domestic dogs with a gentle natura,
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Topic - directly from the specification - -
9 Y P Work along with notes Exam practice questions

complete”? - .
= - watch at different speeds templates or complete notes for every video
NO NO - whole screen or pop-out 3. Click ‘complete’ | "o

Yes

Past 4. Recap with a concise, but 9. Download the revision 6. Try the topic
Yes # Dapers detailed whole topic video guide for quick revision tests

AQA GCSE Biology Triple Science

4.6 Inheritance, Variation and AQA GCSE Biology

' Evolution
4. \Watch whole unit The
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Exam practice paper
GCSE
Biology

All topics summary video
done?

Higher Tier  Paper 2H Topic Test
Inheritance and Selection

Combined Science

Marks record
Mark

For this paper you will need:
- ascientific calculator

cak

Instructions

- Use black ink.

- Answer all the questions in the spaces provided.

- Rough work can be done on the paper. Gross out any work you do not
wish to be m

varked.
Brown Brown Brown Brown - Show your working for all your calculations.

100% brown mice in the offspring ation
- The maximum number of marks is 61
- You should answer using good English and clear presentation.
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Exam

12is D d, because he inherited D from his mother and d Very few. > determine phenotype

from his father If a new phenotype is sited to the environment

@ ThaQnrianraoRrask rnm it can lead to a rapid change in the species

6. Try topic 5. Download the e
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